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1st = [1, 5, 10]

for i in range(len(lst)):

print (i, end = " ")
print ()
for i in range(len(lst)):
print (1lst[i], end = " ")
print ()

for i in 1st:
print (i, end = " ")
print ()

for i in 1st:

print (1st[i], end = " ")
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tri = [[1, 2, 3], [1, 2], [1]1]

for i in range(len(tri)):
for j in trifil:
print(j, end = " ")
#print (tri[il[j])

print )
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# read and prepare n, m, and p

n = int (input ("Number of jobs: "))
m = int(input ("Number of machines: "))
pStr = input("Processing times: ")

p = pStr.split(' ')
for i in range(n):

plil = int(p[il)
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